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QUESTION 1

Assessing process proportion as opposed to evaluating a process with respect to a set target can be done using one or
more of these. (Note: There are 2 correct answers). 

A. Process proportion equals some desired value 

B. Process proportion equals some value range 

C. Target is current 

D. When we deal with Attribute type data 

E. Proportion of the tail is equal 

Correct Answer: AD 

 

QUESTION 2

Find the average difference dbar. 
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A. 0.2875 

B. 0.3502 

C. 0.2714 

D. 0.2295 

Correct Answer: A 

 

 

QUESTION 3

The class score distribution of schools in a metropolitan area is shown here along with an analysis output. Comment on
the statistical significance between the Means of the two distributions. Select the most appropriate statement. 
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A. The two class Means are statistically different from each other 

B. The two class Means statistically not different from each other 

C. Inadequate information on class Means to make any statistical conclusions 

D. A visual comparison shows that class Means are not statistically different 

Correct Answer: A 
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QUESTION 4

It would be more likely than not for a Belt conducting a Regression Analysis to find that the
_______________________. 

A. r2 value is smaller than the absolute value of r 

B. Correlation Coefficient equals r2 

C. Coefficient of Determination is less than r2 

D. Correlation Coefficient equals r divided by 2 

Correct Answer: A 

 

QUESTION 5

Calculate the interaction effect 

A. 1.5 

B. 205 

C.
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Correct Answer: C 
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